


























DRIW 1275( 'so('8 /$86

0$18&78%$,50$5,$ +DXWHV $OSHV

H&RQJUNV QDWLRQDO GH OD 0
:V\Z SH WYtZPKLUJL K\ JHYKPUHS 70PS

AHYPL YLM\NL KL 4PZtYPJVYKL

(JLJ 4HYPL 4uYL KL 4PZtYPJVYKL
]JP]YL SH YtJVUJPSPH[PVU

$YHF OD SDUWLFLSDWLRQ GH (JLJ SH WYtZLUJL

S'D\N\t OTWYPTL\Y | 7YPU[ JVUJILW[
e  .SVYPV\Z ! 1) )VUH]PH

K»$VVRFLDWLRQV &RQJUO

“HYKPUHS 70 )HYIHYPU ORXYHPHQWYV KtKPtZ n Stf 0L}
(YJOL]vX\L KL 3°VU iz
DWRQP I
5QP DWFQP Xy, T2
AVUZLPNUL\Y ( 4 KL/ 4VUStVU 3
ilvX\L KL 4LH\_ 27
AVUZLPNUL\Y 1 4 KP -HSJv 3tHUKYP i
iJvX\L KL .HW L[ K»,TIY\U 7
AVUZLPNUL\Y 9 )VJIJHYKV =+
(YJOL]vX\L KL :WVSL[V 5VYJPH 2%
(UJPLU VYNHUPZH[L\Y KLZ 141 L|[ Z+
KLZ JV'HNLZ K\ WHWL 1LHU 7H\S 00 S
: Y o aa- A"
7uYL 3 -YuYL iz
9LJ[L\Y K\ :HUJ[\HPYL z

$QLPDWLRQV vsoFLgTXH
WV\Y SLZ HQIDQWYV L[38LZ

1V\YUtL 1L\ULZ 4PZtYPJV
=LUKYLKP HV,]



